IS4 12 A B gk A HE BE2E N4 R I
(N0 E B DO RGBT/ NEZE X))
H1X
4%£12H1H
X 4 % L8 ) BITE P
A B A-B
1 01 7 (IE BT T 2 BR) 72,230 80,651 152,881 153,591 -710
b5 T 45,694 49,110 94,804 95,300 -496
JE i T (HAEBAT 2 BR<) 50,106 53,600 103,706 105,025 -1,319
il & 168,030 183,361 351,391 353,916 -2,525
1 X 168,030 183,361 351,391 353,916 -2,525
2
A4E12H1H
X 4 s 58 ) BiTE HE O
A B A-B

IR ] 22,761 24,085 46,846 47,105 -259
=) [if] 51,140 57,051 108,191 109,714 -1,523
ot (il 19,764 22,179 41,943 42,427 -484
B 11,922 13,913 25,835 26,272 -437
JARI (B REENT O KHK) 5,854 6,578 12,432 12,627 -195
i} it 111,441 123,806 235,247 238,145 -2,898
NS PN L) 5,866 6,858 12,724 13,144 -420
A At 5,866 6,858 12,724 13,144 -420
IAE | Fo oK WY 2,307 2,401 4,708 4,796 -88
il 7t 2,307 2,401 4,708 4,796 -88
o = B8 HT 1,007 1,117 2,124 2,236 -112
= FH A7 Jiti BT 5,980 6,578 12,558 12,658 -100
A | AR T 4,551 5,115 9,666 9,812 -146
7t 11,538 12,810 24,348 24,706 -358
i) At 19,711 22,069 41,780 42,646 -866
2 X it 131,152 145,875 277,027 280,791 -3,764




H3X

4%12H1H
X 7 L8 G BITE P
A B A-B
FOE W 63,484 71,133 134,617 136,118 -1,501
Ly (1 77 (IR BT ST 00 [ J5k) 2,037 2,446 4,483 4,656 -173
K [if] 17,495 20,534 38,029 38,843 -814
I ] 8,955 10,301 19,256 19,778 ~522
(LRGN T 23,840 26,726 50,566 51,044 -478
[if] &t 115,811 131,140 246,951 250,439 -3,488
B[ | iy g WY 1,202 1,495 2,697 2,746 -49
AR it 1,202 1,495 2,697 2,746 -49
i} At 1,202 1,495 2,697 2,746 -49
3 KX gt 117,013 132,635 249,648 253,185 -3,537
AR
4%12H1H
X a7 b= L8 ) BIE P
A B A-B
T B W 96,682 113,823 210,505 213,939 -3,434
E M M 12,442 14,711 27,153 27,811 -658
i} it 109,124 128,534 237,658 241,750 —4,092
4 X G 109,124 128,534 237,658 241,750 ~4,092
1X2X 3K 4K F}
Ps) 5§ ) K BT HE
05. 124§k H BT 525,319 590,405| 1,115,724 -13,918
04. 12% &% H BI7E 531,355 598,287| 1,129,642 -10,892
03. 12%%k H BIAE 536,026 604,508 1,140,534 -10,054
02. 12% &% H BILE 540,141 610,447| 1,150,588 -9,146
01. 12X ¢k H BITE 544,010 615,724| 1,159,734




